Secrfon 12.2

p- 568 #5-12

#5 PRXYZ is areguiar Px“zamnd,
The midpts of 1ts Lateratl edgcs

ore Joined +o form a Sguare ABCD.
pR=10 and RX =12

o. Find the lateraL area

of PRXYZ py= 2
7] \0 2
% LA.= YSu x ot = a2 u” |
2
2
b. Find the Laterar area ot : Ap= (a_-:: 12 W«
PABC -
P 4 La =12d =|48u
/T
7

e What s the area of Sguare ABCO

wgﬁ\
E

—
J. what (s the area of square 2¥N7 N el
2 \ \

|2
e. Find +he ratio oF Area ABCD 3¢ :B
Yo area RXYZ 4 Y
2 A= (6+12) M

: 9 .
[ What (s the area of rapezoid ABXR. L} \i Z
p= a4

’ o 3 =[9(ou2




as a Srant hetglnt of 8.

#6 A reguar \onjro.nm'd ]
g ce is 25. Fina its

The area of its s%uarc ba

total aréea ,

AA: ,_5: ou

2
Ag =557 25u?

A votal= H(20) +25 = \OSA

7

A re wlar p ?rawnd lhas a slant
hcl hl’ of 12 and a lateral edge

ok lS
Fund:

\ ¢. area of base  _[55442)
d. toratarea  _ (35,374 :@

#9 PABCD IS a4 regular square
\o\jramral

a \F each side of the base has oo
LcngH" of 4 and alt. s 24.

F‘V'A" LSA Ahw = - |‘“;

LS. A.

425
2
(AS

\:]
TS A. = 700 +19b l___’



HEb  Aps LE-o30
y =

Ls.a = +U136) 544w’ |

Ts.A= 544 r256

= KQOOuz’

ta  fud
x PR E]

¥ 5 [10]

g LSA. Pl = 20 (10) = \s0
2

A face, =12 (13) - 102

2
2 (150) +2(102) -|5o4 w’® l

«TS.A, = 504 +360
= [got]
b. 1a2+1S° = X Uﬁu')’}hz-'—zgz
yreg =x* q.H +h*= 625
b +26 = X h*=256
=X | h = o |

x=3m




#10 (See Below)

F

min

1. alla%ovm! oF base XL+|I= 3*
x>+l =9 3
Z 2
@ X = g
X= 25

2. slant he qht
*y2t=s”

I\T=s]|
3. Area of base = @
¢, L = ol

alorad arta q(%‘) :@




iz A ar ockahedrovi:
each face 18 an ezow‘lal-tmL A,

Each edge s bmm long.

a. TS A. _“i@=qg
L'-

\ ¢afp)= 26

b. distance . o\2
from C T
2
c. distance h + (36) =6
from A 0B h*+ 18 =3b
h*- 18
h=3V2



